¢/® = cos(8) + jsin(6)
cos(0) = % (eje +e_j9)
Sin(e) = LJ (eje —eije)

S
sinc(¢) = sin(¢) /¢t

USEFUL FORMULAE AND OTHER INFORMATION

x(t) = i el

k=—oco

cr = %/Tx(t)efj(Z”/T)ktdt

0
Degrees | Radians || sin@ | cos@ tan 0
0 0 0 1 0
1 V3 V3
30 6 1 |7 5
V2 V2
45 i 7|7 !
V3 1
60 5 7 | 2 V3
90 g 1 0 undefined
3 V2 V2
135 Tﬂ e —1
180 b2 0 -1 0
5 V2 V2
225 = - | = 1
270 37” -1 0 undefined
7 V2 | V2
315 T 5| 5 —1
Fourier Series Properties
Property  Time Domain  Fourier Domain

Linearity — ox(¢) + By(t)

oai + Bby

Property

Even Symmetry
Odd Symmetry

Real / Conjugate Symmetry

X 1S even < a is even

xis odd < ais odd

x is real < a is conjugate symmetric

H(w) = [ Zh(r)e*/“"dt



